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: 1~2 Ba(NO,),
|| . (
1~2
Y )
o (2) Ag,0, +2Zn +4KOH +2H,0 —

1 (2011 ) Ag,O,
KOH
AgNO,

80C

Ag,0
Kz SZ 08

o

A
2AgNO, +4KOH +K,S,0, =
Ag,0, | +2KNO, +2K,S0, +2H,0

2K,Zn( OH) , +2Ag

224.0 mL

(3) n(0,)
=1.000 x 10 ~? mol
Agzoz
y

x Ag,0

T22.4 1L mol” x1000 mL * L'

248 g *mol ' xx+232 g e mol ' xy=2.588 ¢

9c+%y:l.000><10_2 mol

x£=9.500 x 10 > mol
y =1.000 x 10 ~* mol

(2) KOH w( Ag,0,) = %
m
A0; Ag 9.500 x 10 ~mol x 248 g/mol
Zn K,Zn( OH) , = 7,588 ¢ =0.91
— 2 (2012 ) -
(3) ( A0 (xNa,SO, « yH,0, * zH,0)
Ag,0)2.558 ¢ Ag @D 1.7700 g 100
0, 224.0 mlL 0, ) ml, A. @ 25.00 ml A
A0, ( BaCl, NN
)« . 0.5825 g. ®
25.00 mL A
Ae.0; ’ 0.02000 mol * L”' KMnO
s
’ KMnO, 25.00 mL. H,0, KMnO,
Ag,0, - o
2MnO; +5H,0, +6H =

(1)
o

¢(Ba’")

2Mn’" +8H,0 +50, 1
BasO, K, 6=1.1x10""
S0;7) <1.0x10 °mol * L™
mol « 17",
MnO,

=

=
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(3) (
) o
(1) 1.1x107*

(2) 2MnO; +3H,0, ——
2MnO, +2H,0 +30, T +20H"
(3) n(BaSO,) =0.5825 /233 g * mol '
=2.50 x 10 "’ mol

n( H,0,) =%x0.0200 mol » L'

x25.00 mLx10 " L*m L™ =1.25x10 " mol
m( Na,S0,) =142 g » mol ~' x2.50 x 10 *mol
=0.355 ¢

m( H,0,) =34 g+ mol ™' x1.25 x10 *mol

=0.0425 g

n( H,0) =(1.7700 g x25.00 mL/100 mL -

0.355 g-0.0425 g) /18 g * mol '
=2.5 %10’ mol
x: vz =n( Na,S0,) : n( H,0,) : n( H,0) =2:1:2

2Na,S0, * H,0, * 2H,0

3 (2013 18 )
(NH,) ,Ni (S0,) , * nH,0 .
) 2. 3350 ¢
100. 00mL A;Q 25.00 mL A
0.04000 mol * L™"  EDTA( Na,H,Y)
Ni** ( Ni** + H, Y~ =
NiY*™ +2H") EDTA 31.25 mL;
®  25.00 mL A NaOH
NH, 56.00 ml( )
(1) EDTA
Ni** I T

© 37 o

-2 .
Ni“* ;

(1) (2)

(3) n( Ni**) =0.04000 mol * L' x31.25 mL
x10 7L e mL™" =1.250 x 10~ mol

n( NH,) =56.00 mL.x10 > L » mL™'/22.4 L
e mol ™' =2.500 x 10 mol
_2n(Ni**) +n(NH,)

n(S0;7) = 3
2 x1.25 %10 " mol +2.500 x 10 ~* mol
B 2

=2.500 x 10 *mol

m(Ni’*) =59 g * mol ™' x1.250 x 10" mol
=0.07375 ¢

m( NH,”) =18 g * mol ' x2.500 x 10 ~* mol
=0.04500 g

m(S027) =96 g * mol ' x2.500 x 10 ~* mol
=0.2400 ¢

n( H,0) =

25.00 mL

23350 gxop e

~0.07375 g —0.04500 g —0.2400 g

18 g * mol '
=1.250 x 10 % mol
xtyimin=n(NH,") :n(Ni*") :n( SO; ") : n( H,0)
=2:1:2:10
( NH,) ,Ni( SO,), * 10H,0
( 12013 09 -13)



